Instructions. Always include explanations, so that other readers ecan tell what you did and why you did it. Never write
outside the hox.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book {leng dimension) 9 22.8 0.3947
Book (shert dimension) 5ig 152 0.3906
Paper clip (long dim.) 15 3.3 0.3977
Paper clip (shart dim.) 5 0.8 0.3906
Pen (length) 52 13.6 (.3952
Phone 3~%~§" 0.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39,

Liana said this ig wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sicles by centimeters, we get:
inch/centimeter = 2.54. ' (1}

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.35.. . (2}

He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you got

contimeter /inch = 2.54. (3)

He added, “2.54 is the number of centimeters per inch, so (3) is right, because
centimetars per luch = 2.54

livide a

Liana said that Daniel is wrong, because the numbor of centimeters per inch is the numbor you gef when you ¢
centimeser into an inch, not what you get wlhen you try to lind out how many inches there are in a centimeter (which would

be 0.39).

Please help Daniel and Liana figure out why they ran’t agree.
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Instructions. Always include explanations, so that other readers can tell what you- did and why you did it. Never write
outside the hox.

Inches and Centimeters. Daniel measured several things in inches and in contimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3047
Book {short dimension) 5% 15.2 0.3906
Paper clip (long dim.) 1% 3.3 0.3977
Paper clip (short dim.) 5 0.8 0.3906
Pen (length) 58 13.6 0.3952
Phone ?% 9.1 0.3984

‘inches over centimeters” s a constant, which is approximately equal to 0.39.
2.54 centimeters. Therefore, dividing both

"He conjectured that *
Liana said this is wrong, hecause the conversion table in her book says 1 inch =

sides by centimeters, we get:
inch/centimeter = 2.54. {1)
She also said, “An inch is bigger than a contimeter, so when we take the ratio of an inch to a centimeter, we must get a
1 B 1 a
number that is larger than 1.7

Dantel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.39.. .

He also said that 1/(2.54) = 0.393761, so if ynﬁ invert. both sides of (2), vou get
centimeter/inch = 2.54. (3)
He added, #2.54 s the number of centimeters per inch, so {3) is right, because
centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the uuwmber of centimeters por inch s the number you get when you divide a

centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would
he 0.39).

Please help Dandel and Licna fgure ouwd by they can’t agree,
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Instructions. Always include explanations, so that other rcd(lem can teil what you did and why you did it. Never write

outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters . in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 5—1@5 15.2 0.3506
Paper clip {long dim.) 1+ 33 0.3977
Paper clip {short dim.) 5 0.8 0.3006
Pen (length) 52 13.6 $.3952
Phone ‘3% 9.1 0.3084

‘inches over centimeters” is a constant, which is approximately equal to 0.39.

He conjectured tinr
= 2.54 centimeters. Therefore, dividing both

Liana said this is wrong, because the conversion fable in her beok says 1 inch

gicles by centiraters, we get:
inch/centimeter = 2.64, {1)

She also said, “An inch is bigger than a ceutiimeter, so when we take the ratio of an inch to a cenfimeter, we must get a

number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” ls:
inches/centimeters = 0.39, . ..
He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter/inch = 2.54
He ﬂ-_{l(lfid “2.54 is the number of centimeters per inch, so (3) is vight, because
centimeters per inclt = 2.54.

Liana said thai Dandel s wrong, because the numbor of centimeters por inch s the number you gef when you divide a
centimeter into an inch, not what you get when you try to find out how miany inches there are in a centimeter (which would
be (0.39).

Dease help Dandel and Liona figure out why they van’t agroe.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never writ
outside the hox.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book {short dimension) SL‘? 15.2 0.3906
Paper clip (long dim.) 1% 3.3 0.3077
Paper clip (short dim.) 5 0.8 (0.3906
Pen (length) 52 13.6 0.3952
Phone 3%?1 9.1 (0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.
Liana said this is wrong, because the conversion table in her book says 1 inck = 2.54 centimeters. Therefore, dividing both

sicles by centimeters, we get:
inch/centimeter = 2.54, (1)

She also said, “An inch is bigger than a centimeter, so when we take the vatio of an Inch to a centimeter, we must get a

number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.39. ...

He also said that 1/{2.54) = 0.393701, so il you invert both sides of (2}, you get

centimeter/inch = 2.54. (3)

He added, “2.54 iz the number of centimeters per inch, so (3) is right, becanse

contimeters por inch = 2.54.

Linta said that Daniel is wrong, because the nnmber of centinieters per inch is the aumber you get when you divide a

centimeter into an inch, nol what you get when you try to find out how many inches there are in a centimeter (which would
be 0.39).

Please help Dandel and Liona figure out why they con’t agree,
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches ecentimeters in./cm.
Book {long dimension) 9 22.8 0.3047
Baook (short dimension) Slf;’- 15.2 0.3906
Paper clip (fong dim.) 15 3.3 £.3977
Paper clip (short dim.) T 0.8 0.3006
Pen {length) 52 13.8 0.3952
Phane ?iﬁ 91 0.3984

—
f=x1

He conjecturad that “inches over centimeters” is a constant, which is approximately equal to 0.35.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is higger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a

niumber that is larger than 1.°

Daniel saic that Liana is wrong, His table shows that the covrect value of “inches/centimmeters” is:

inches/centimetars = 0.39.. .. (2)

He also said that 1/(2.54) = 0.393701, so il you invert both sides of (2), you get

centimeter/inch = 2.54. (3)

He aclded, “2.54 is the number of centimeters per inch, so (3) is vight, becaise
54

conkilmeters per inch = 2.54.

Liana said that Daniel is wrong, becanse the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when yon try to find onf. how many inches there are in a centimeter (which would
be 0.39).

Please help Dandel and Diona figure ond why they can’l agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box. .

Tnches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following fable:

Object inches centimeters in./cm.
Book {long dimension) 9 22.8 0.3947
Back (short dimension) 5—'@ 15.2 0.3906
Paper clip (long dim.) 15 3.3 0.3877
Paper clip (short dim.) % 0.8 0.3906
.Pen {length) 58 13.86 0.3952
Phone ’Slig 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39,
Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by contimeters, we get:
inch/centimeter = 2.54. (1)

She algo said, “An inch is bigeer than a centimeter, so when we take the ratio of an ineh to a centimeter, we must get a
1 fala 1 f=)
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39. . .. (2)

He also said that 1/{2.54) = 0.393701, so if youl invert both sides of (2), you get

centimeter/inch = 2,54, (3)

He acdded, “2.54 is the number of centimeters per ineh, so (3) is right, because CM

7 th

Liana said that Daniel is wrong, because the numbor of centimeters per inch is she number you get when you divide
cendimeter into an inch, not what you get when you try to find out how many incles there are in a centimeter (which would

he 0.39).

Plense help Dandel and Linna figure out why they can’t agree.
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Instructions. Ailways include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

centimeters in./cm.
22.8 0.3947

15.2 0.3906

3.3 0.3977

0.8 0.3906

13.6 0.3952

9.1 (3.3984
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Object

Bock (long dimension)
Rook (short dimension)
Paper clip (long dim.)
Paper clip (short dim.)
Pen {length)

Phone
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He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, becanse the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both
sides by centimelers, we get:
inch/centimeter =~ 2.54. 1)
She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His tahle shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.39.. .. ‘ (2)

He also said that 1/{2.54) = 0.303701, so if you invert both sides of (2), vou get
TN (3)

centimeter/inch = 2.54

e acded, “2.54 is the nnmber of centimeters per inch, so (3) is right, because

centimeters per ineh = 2.54,

Liaua said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a

centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would
he 0.39).

Please help Dandel and Liona figure out gohy they can’t agree.
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Instructions. Always include expianations, so that other readers can tell what you did and why you did it. Never write

outside the box.
Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book [short dimension) 542 15.2 0.3906
Paper clip (fong dim.) 1 3.2 0.3977
Paper clip (short dim.) 6 0.8 0.3906
Pen {length} 52 13.6 0.3952
Phone ‘3% 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, becanse the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both
(1)
She also said, “An inch is higrer than a contimeter, so when we take the ratio of an inch Lo a centimeter, we must get a

¥ mu“'“__.‘
number that is larger (inn i

e e K Y 2
188

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters”

sides by centimeters, we get:
inch/centimeter = 2.54.

inches/centimeters = (.39, . ..

He also said that 1/{2.54) = 0.393701, so if you invert both sides of (2), you get

cenbimeter/inch = 2.5+

He added, “2.54 is the number of centimeters per inch, so (3) is right, because

contimeters per inch = 2,54,

Liaus said that Daniel is wrong, because the nimnber of centimeters por inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a cenfimeter (which would

he 0.39).
Please help Daniel and Liana figure out why they can’t agree.
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Instructions. Always include explanations, so that other reaclers can tell what you did and why you did it. Never write

otitside the box.
Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following tabl

Object inches centimeters in./cin.
Boolk (long dimension) 9 22.8 0.3947
Book (short dimension) 5135; 15.2 0.3906
Paper clip (long dim.) 15 3.3 0.3977
Paper clip (short dim.) iiﬁ 0.8 0.3006
Pen {length) 58 13.6 0.3952
Phone ‘3%—? 9.1 1.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters, Therefore, dividing both

(1)

sides by centimeters, we get:
inch/centimeter = 2.54.

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a

number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39. . ..
He also said that 1/(2.54) = 0.393701, so il you invert both sides of (2}, you get
centimeter/inch = 2.54.
He added, “2.54 is the number of centimeters per incly, so {3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters por inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in & centimeter (which would

be 0.39).

Please help Dandel and Liona figure owt why they can’t agree,
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Instructions. Always include explanations, so that other readers can tell what you did and why you did . Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 (0.3947
Book (short dimension) 5]—123 15.2 0.3906
Paper clip (long dim.) 15 3.3 0.3877
Paper clip {short dim.) 5 0.8 0.3606
Pen (length) 55 13.6 .3952
Phone 3i—g a1 0.3984

—
o

He conjecturex] that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sicdles by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a

number that is larger than 1."

Daniel saicd that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39. . .. (2}
He also said that 1/(2.54) = 0.303701, so il vou invert both sides of {2), you get
centimeter /inch = 2.54. (3)

He added, “2.54 is the nnmber of centimeters per inchy, so (1) is right, because

cenbimeters per inch = 2.64.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a

centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which wonld
be 0.39).

Please help Dandel and Liana figure out why thoy can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Back (long dimension) 9 228 0.3G47
Book (short dimension) 5%’ 15.2 0.3906
Paper clip {long dim.) lliﬁ 3.3 0.3977
Paper clip (short dim.) 16 0.8 0.3008
Pen (length) 55 13.6 0.3052
Phone ’SB 9.1 0.3984

—_
o

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.34 contimeters. Therefore, dividing both

sides by centimeters, we get:
inel/centimeter = 2.54, (1)

She also said, *An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.7

Daniel said that Liana is wrong, His table shows that the correct value of “inches/cenbimeters” is:

inches/centimeters = 0.39. .. (2)

He also said shat 1/(2.54) = 0.393701, so il you invert both sides of (2), you get

centimeter /inch = 2.54. (3)

He added, #2.54 is the number of centimeters per inch, so (3) is right, becanse
centimeters per inch = 2.54.

Liana said that Dasiel Is wrong, because the mimmber of centimoters per inch iz the number you get when you divide a

centifneter into an inch, not what you get when you try to find out how many inches there are in a cenfimeter (Whi(:h would
be 0.30).

Please help Dandel and Liona figure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Bock (long dimension) 9 22.8 03047
Book (short dimension) 51—&;’ 15.2 0.3606
Paper clip (long dim.) 145 3.3 0.3977
Paper clip (short dim.) i 0.8 0.3906
Pen (length) 5% 13.6 0.3952
Phone 3% 9.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sicles by centimeters, we get:
inch/centimeter = 2,54, (1)

She also said, “An inch is higger than o centimeter, so when we take the ratio of an inch fo a centimeter, we must get a

number that is larger than 1.7

Daniel said that Liana is wrong. His fable shows that the corvect value of ”inc:h_es/centimeters” is:
inches/centimeters = 0.39.. .. {(2)
He also said that 1/(2.54) = 0.393701, sa if you invert both sides of {2), you get
centimeter/inch = 2.54. (3)
He added, *2.54 is the number of centimeters per inch, so (3} is right, because

cenbimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimieters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find ont how many inches there are in a contimeter (which would

he (.39).

Please help Dandel and Liena figure out why they can’t agree.
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Instructions. Always inciude explanations, so that other readers can tell what you did and why you did it. Never write

outside the box.
Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 32.8 0.3947
Book (short dimension) SLL‘; 15.2 0.3906
Paper clip (long dim.) 1 3.2 0.3077
Paper elip (short dim.) Tbﬁ 0.8 0.3906
Pen (length) 55 13.6 0.3952
Phene 3% 2.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in har book says 1 inch = 2.54 centimeters. Therefore, dividing both

(1)

sides by centimeters, we get:
' inch/centimeter = 2.54.

She also said, “An inel is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a

number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inclies /contimeters = 0.39. . ..

He also said that 1/{2.64) = 0.393701, so if you invert both sides of (2), you get

centimeter/ineh = 2.54,
He added, “2.54 is the numher of centimeters per inch, so (3) is right, becausc
cenkbimeters per inch = 2.54.

Liana said that Daniel is wrong, because the nimber of centimeters per inch is the number you gef when you divide a
centimeter into an inch, not whal you get when you try to find out how many inches there are in a centimeter {which would

be 0.39).

Plense help Dandel and Linna fgure out why they can’t agree.
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Instructions. Always include explanations, so that other readers can fell what you did and why you did it. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Book (short dimension) 5%%’ 15.2 0.3906
Paper clip (long din:.) 15 3.3 0.3977
Paper clip (short dim.) T 0.8 0.3906
Pen (length) 5o 13.6 0.3952
Phone '%ig a1 (.3984

—
o

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimetors. Therefore, dividing both

sicles by centimeters, we get:
: inch/centimeter = 2.54, (1)

She algo said, “An inch is higger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.”

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimetors” is:

inches/contimeters = 0.39. . ., (2)

He also said that 1/(2.54) = 0.393701, so if you nvert both sides of (2}, you get

centimeter/inch = 2.54. (3)

He added, “2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter (which would
be 0.39).

Please help Dandel and Liena floure out why they con’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did ib. Never write
outside the box.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3947
Bock (short dimension) 51—: 15.2 0.3905
Paper clip (long dim.) 1% 3.2 0.3977
Paper clip (short dim.) % 0.8 0.3906
Pen (length) 58 13.6 0.3952

()
,...,_
O:?:

a9.1 0.3984

["hone 3%

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, bocanse the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a

number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39. . . {2)
He also said that 1/{2.54) = §.393701, so if you invert both sides of {2), you get
contimefer /inch = 2.54. {3)
e added, “2.54 is the number of centimeters per inch, so (3) is rvight, because

centimeters por inch = 2.54.

Liana said that Daniel is wrong, because the munber of centimelers per inch is the number you get when you divide a

centimeter into an inch, not what you get when you try to find out how many inches there are in a contimeter (which would
be 0.39).

Please help Dantel and Liona figure out why they con't agree.
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Instructions. Always include explanations, so that other readers can tell what yvou did and why you did it. Never write
outside the hox.

Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Baook (long dimension) 9 22.8 0.3047
Book (short dimension) ’3% 15.2 0.3500
Paper clip (long dim.) 5 3.3 0.3977
Paper clip {short dim.) T 0.8 0.3906
Pen (length) 52 13.6 .3952
Phone 3% 9.1 0.3984

He conjectnred that “inches over centimeters” is a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sidles by centimeters, we get:
inch/centimeter = 2.54. (1)

She also said, “An inch is higger than a centimeter, so when we take the ratio of an inch to a centimeter, we must get a
number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” ig:

inches/centimeters = 0.39.. .. {2}
He also said that 1/(2.54) = 0.393701, so if you invert both sides of {2}, you get
centimeter /inch = 2.54. (3)

He added, “2.54 is the number of centimeters per inch, so (3) is vight, because

centimeters per inch = 2.54,

Liana said that Daniel is wrong, because the number of centimeters per inch is the number yon get when you divide a

centimeter into an inch, not what you get when you try to find out how many inches there are in & centimeter (which would
be 0.39).

Please help Dandel and Liona figure out why they can’t agree.




Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write

outside the box.
Inches and Centimeters. Daniel measured several things in inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Book (long dimension) 9 22.8 0.3047
Book (short dimension) 5% 15.2 0.39006
Paper clip (long dim.) 15 3.3 3.3977
Paper clip (short dim.) i 0.8 0.3906
Pen (length) 5L 13.6 0.3052
Phone ‘3%—?; 9.1 0.3984

He conjectured that “imches over centimeters” is a constant, which Is approximately equal fo 0.39.
Liana said this is wrong, because the conversion table in her book says 1 inch = 2.54 centimeters. Therefore, dividing both

sicles by centimeters, we get:
inch/centimeter = 2.54. (1}

She also said, “An inch is bigger than a centimeter, so when we tale the ratio of an inch fo a centimeter, we must gel a
number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.39. ..

He also said that 1/{2.54) = 0.393701, so i you invert both sides of (2), you get
A4, (3

centimeter/inch = 2.5

He added, *2.54 is the number of centimeters per inch, so (3) is right, because

centimeters per inch = 2.54,

Liana said that Daniel is wrong, because the number of centimeters per inch s the number you get when you divide o
cenbimeter into an inch, not what you get when you try to find out how many inches there are in a centimeter {(which would
be 0.39). '

Please help Dandel and Liomo figure ont why they can’t agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did . Never write
outside the box.

Inches and Centimeters. Daniel measuved several things in inches and in centimeters and he made the following table:

Object inches centimeters in./om.
Book (long dimension) g 22.8 0.3547
Book (short dimension) ‘i% 15.2 0.3906
Paper clip (long dim.) 15 33 0.3977
Paper clip (short dim.) T%“ 0.8 0.3906
Pen (length) 58 13.6 .3952
Phone 3%—?; 5.1 0.3984

He conjectured that “inches over centimeters” is a constant, which is approximately equal to 0.39.
Liana said this Is wrong, because the conversion table in her book says 1 inch = 2.54 centimetors. Therefore, dividing both

sicles by centimeters, we gat:
inch/centimeter = 2.54. (1)

She also said, “An inch is bigger than a centimeter, so when we take the ratio of an inch to a cenfimeter, we must get a
namber that is larger than 1.7

Daniel said that Liana is wrong, His table shows that the correct value of “inches/centimeters” is:

inches/centimeters = 0.39. . . (2)

He also said that 1/(2.54) = 0.393701, so if you invert both sides of (2), you get
centimeter/inch = 2.54, {3
e added, *2.54 is the number of centinmeters per inch, so (3) is right, because

centimeters per inch = 2.54.

Liana said that Daniel is wrong, because the number of centimeters per inch is the number you get when you divide a
centimeter into an inch, not what you get when yon try to find ont how many inches there are in a centimeter (which woulkl
he 0.39).

Please help Dandel and Liona figure out why they can't agree.
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Instructions. Always include explanations, so that other readers can tell what you did and why you did it. Never write

outside the box.

Inches and Centimeters. Daniel measuied several things in.inches and in centimeters and he made the following table:

Object inches centimeters in./cm.
Baock (long dimension) 9 22.8 0.3947
Book (short dimension) 512 15.2 0.3906

el

Paper clip (long dim.) 33 0.3977

[T
Paper ¢lip (short dim.) ,iﬁ 0.8 0.3906
Pen (length) 5% 13.6 0.3952
Phone 31a 9.1 0.3984

He conjectured that “inches over centimeters” s a constant, which is approximately equal to 0.39.

Liana said this is wrong, because the conversion table in her book says i inch = 2.54 centimeters. Therefore, dividing both

sides by centimeters, we get:
inch/centimeter = 2.54. )

She also sald, “An inch is bigger than a centimeter, so when we. take the ratio of an inch to a centimeter, we must get a

number that is larger than 1.7

Daniel said that Liana is wrong. His table shows that the correct value of “inches/centimeters” is:
inches/centimeters = 0.39. . . : (2)
e also said that 1/{2.54) = 0.393701, sc if you invert hoth sides of (2), you get |
cenbimeter/inch = 2.54. {3
He added, #2.54 is the number of centimeters per inch, so (3} is right, because

contimeters per inch = 2.64.

Liana said that Daniel is wrong, because the mimber of centimeters per iuch is the number you geb when you divide a
centimeter into an inch, not what you geg when you try to find cut how many inches there are in a centimeter (which would
b 0.30).

Please help Dandel and Lione figure out why they can’t agrec.
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